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1.1328× 16794÷ 369.065.0 −

851.99.4 ÷ 21.07.36 ×149350+

Estimation using 1 significant figureEstimation using 1 significant figureEstimation using 1 significant figureEstimation using 1 significant figure
60 0.8 100 10 0.3 17 5

died know man chef hear he way

400 0.5 300 1 70 2 50

what about did bowl that my car

12 500 48 20 40 0.1 8

eat the pasta how you lived italian
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Now find the word matching each answer and put 
them in question order to reveal a truly awful joke!

Use a calculator to work out the answers to the sums below, then round your answer to 1 significant figure

(1) 2) 3) 4) 5) 6)

7) 8) 9) 10) 11) 12)

Name : .....................................................................................................................................................................


